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vee A6 7|4s Das L9 D13 A6 7|4s Das L9 D5
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XRO o U7 XR1 o U6 u3 u2
Dual UART / GPIO | XR68C681 Dual UART / GPIO | XR68C681 Even byte ROM & SST39S5F010 0Odd byte ROM | SST39SF010
AL 12 13 P} AL 12 13 DO
AL 8 xt/ck |32 A 8 xtsek |32 2y 8 D9 2y 8 W m
A2 = A2 = A3 10 |5 02|15 D10 A3 10 |5 02|15 D2
A3 53 A3 53 AL 9 |3 03|47 D11 Al 9 |3 03|47 D3
Al X2 —22—x Al X2 —22—x A5 8 |py o4 |18 D12 A5 8 |py o4 |18 D4
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When FCO, FC1, FC2 = 111, the 68000  VCC 38 14 38 14 — 2t 29 1a10 — 2t 29 1a10
is requesting an interrupt vector from x IPS ggg 26 X x IPS ggg —Xzﬁ %Aii %2—5/“1
the device. TS X — A0 | NS .
Do 25 1 po op7 12 x Do 25 1 po op7 12 x Atk 26|12 d ath 2812
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IACK SN 9 interrupting — RESETN INTRN —=—— — RESETN INTRN
= E2 o 06 P32x i IACKL 37 TACK2 37 o o
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® as IRQO has
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A2 30 D1
A2 3 D2
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A3 2 D3
Al 32 D3
2t I 1 D4
A5 33 D4
— 2 3,5 64 D5
A6 34 D5
A6 63 D6
A7 35 D6
T} 62 D7
A8 36 D7
A8 61 D8
A9 37 D8
A9 60 D9
AL0 3§ D9
AL0 59 D10
ALl 39 D10
A1 58 D11
A2 40 D11
A2 57 D12
AL3 i D12
A3 56 D13
Alh 47 D13
e Y 55 Dik4
M A15 D14 54 D15
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— 2 Hlae
ALl7 45|
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A1Q 47 GAL22V10
A0 4§ gg ADDRDECO
—A2L 5005y A23 A22 A21 AS FCO FC1 FC2 XRODTACK XR1DTACK NC GND
A22__ 51,55 1 NC NC NC NC NC DTACK IACK XR1CE ~ XROCE  RAMCE ROMCE VCC
A23 52 DTACK
———|A23 /IACK = FCO * FCL * FC2
Veep p \ : /RAMCE = A23 * /AS * IACK
ratead DelamingSe & JROMCE = /A23 * /A22 * /AS * IACK
U8 /XROCE = /A23 * A22 * /A21 * /AS * IACK
/XRICE = /A23 * A22 * A21 * /AS * IACK
vee 3 ATF22vioc DTACK = XRODTACK * XRODTACK * /ROMCE * /RAMCE
vee vee mez u5s ; :S ; CLK/IN § /0 g Romc DESCRIPTION
Power—on Reset Pulse Generator cc RE R7 o ':DVS/Q* /W A21 3 :z :/g 21 XROC Address decoder for M68000—based computer.
Vi Power—on 1 > 5 CLK 15] /_ 5 A5 4 / bo XRLCE Incomplete decoding, many areas mirrored.
4,7K 4,7K EN1OUT| bELK S IN/PD 1/0 =
U9A 2 FCo is ;g‘i’ 2 IN /0 12 % Programming:
© % galasm —v addrdeco.pld
L 74HCO5 . < Power—on ’fg; be o2 7 :": :;g 17, % minipro ——device “ATF22V10C(UES)" ——write addrdeco.jed
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cv DIs RS 3 4 vee vee vee £ R% Memories are assumed to be fast enough to have “instant”
a iM mg( 2 or "grounded” DTACK. The 68681 serial chips
Ch c8 4L’C R z THR 6 5] respond accordingly.
N
0.1uF 0.1uF = 18 68000 may drive the reset pins low RS R9 R10 :L
0.47uF while excuting the reset instruction. 47K 4.7K 4.7K
Therefore, reset signal generators : : : 22 5ERR vee
; need to be open-drain/open—collector 1| == ——I2s PLO
v and pulled up. 4456 TPT0 IPLO vee
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R 3 so 8 |0312 mT‘Nmumo!\wrx
o ) L—dgs1 = npr—mn=
UG 74HCO5 L—fgs2 2 pt2 a2
T4HCOS 74HCO5 74HCO5 74HCO5 13 IRQ3 -
vee ugc U9 U9F GND :2 +  RQh http:.///o/tdbytte:.f;pacz/@thankfutmacmne
Mg 7 TRQE gopher://grateful.garden
vee GND * 1‘0c 2 IRQ5
~ 'nl c'l 2 %154 gg :g 3 IRQ6 No Commercial Use
GND < . bt R¥ Copyright 2023 All Rights Reserved
5
GND g op Interrupt request encoding ;tzgtfu/l Machine
o IRQO is not used as it has File: Bebop68k.kicad_sch
no effect on the 68000 CPU. T’ﬂe_ Bebop 68000
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